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INTRODUCTIONE: Read this first, before you begin the tests

Hiow smart are you? Have you ever taken an 1Q test!
What Is intelligence, anyway! What has it to do with

Insuition, Imagration, creatvity—cr any of the other
specal talents we honor! How can we quantfy such a
concept!

Ay meagure of inelligence inavimbly Involvas & com-
pleat s8¢ of assumptions about what intelligences & and
how it is valued in our socikety. Surveys have shown
that most peeple rate intelligence among the highest
values, slong with health and wealth, Although tests of
Intalligence Quotient, or 1), kave outgrown their
original purposs (to predict academic success), they
have survived and maintained a high status because
they mesure a quality deemed of great importance in
soclety

For more than a century, IO tests fave evoked con-
roversy and mes wich conflict at every twr. The sig-
nificance of the test and the fact that it provides a
“scale” for inteligence has aroused highly charged
emotions. Theories have been propounded dhax inmelll-
gence is influenced by anvircamant, aspacially in the
formative years, snd by other factors, But heredity and
ervironment never work in isoltion; teey abways
wark in interaction with esch other. 5o the peimary
argument comes down to determining what their
ratio is in determining 1O score.

IQ tests have been implemented in American educa-
tion, and have been used in colleges, graduate pro-
outset it may seem useful and fortunate that we have
Undortunately, however, no one has been abde to sub-
smneiae fully the corralaton batwean IO tests and
ingelligence.

Even if we separate 1) tess from the lssue of invelli-
gence, can we condone using the scones as a basis for
sedecting an individual for 2 pardcular position? This
facade of practical usefulness may shroud a much
deeper, fundamentad problem in our soclety Users of
I tests must ask exacly what they are messuring,
and whether the wsts measure the sama thing for all
subjects. The most frequant and vehement arack

against B tests charges that they are culturally biased
against racial and ethnic minorities and the poor. No

one test @n be completely “objective™ no matter how
hard the test-maker tries,

W have arcempoed to make our book a5 “odlnerally
nautral” as possible. This just means mindmizing “cul-
twre loading” by svolding the use of words or pictures
that are mone sccessible 1o onie group than another.
Meutral elements wed may include lines, curves,
squares, and dreles—imvalving universal concepts
such a8 upidawn, apenlclosed, rightieft. whola/hall,
fullempty. larger/smaller. many/feve, ete. Mare com-
Questions involving reasoning and deduction require
the examination of a given premise and the inference
of conclusions from that premise. Vertal skills tested
Invobve knowing the meaning of wards and how wm
spell them. Of course, this secton requires some
educaticn and perience, 50 It is misch more oul
included thve varbal section to make the vests more
fun and challenging, while stll actempaing o eliminate
highly biased entries.

FORMAT

This book features three sectons—Elementary, Chal-
lerging, and Masterful, with siaty questions in esxch of
the first two sections and fortydive in the third. The

taning your cerebrad capacicy.

The eample below shows one type of question you'll
fimd. It is not representative of all guestion types, but
it does offer 4 clie to how the test requires you £o

A popular type of guestion asks you to chocse the
“odd one out”™ from a group of words, shapes, sym-
bols, ete. The test-makar must take care 0o endure
that the “odd cne out” has an cutstanding difference
from the achers, and that the distractors (the choices
thar are not “odd”) are similar enough to the correct
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oni to previde some challengs, Here 8 «n eaenple of
the type of quastion chat should not be ghven, because

It would give rise to dsagreement

VWhich is the odd one ourt?
3454678

At first glance, there is no apparent answer:. It is no
use chaosing any one nusmber on the grounds that it is
odd, even, or 2 prire number, since thers are three of
sach. They all follow & straghtforward arithmetic pro-
gression, so there it no clus there, Whas, then, is left!
Let's spell cut de numbars:

three four five six seven eght

Ay clug here! Four—because the nember of letters
eight—beuse i is the only word that sarts with 2

vowel. You could think of cther possible answers, but
they are all weak, simply because no one number has
any distinctive feature.

Here i & betver axnmple:

Which is the odd one out?
&7 1015 20 2

Your reasoning could follow these lines: |s thare &
commaon divisor in all but one number? No. Is there a
single odd or even number! No. 'What about a com-
mon sequence! Mo—they increase by 1, 3,5, 5, 1.

Mothing outstanding there. What, then, is the only
namber in the series that kas 3 characteristic not

shared by the others! The only such rumber is 7,
because it is the only prime numbar. This is the sort of
raasoning you will have 1o practice as you go through
the ez Ve are not orying o trick you; we are rying
to challenge you.

You shauld begin by gathering writing materals—nat
only because some of the problems may require work-
note of your answers and scores (these appear at the
end of aach individual test) until you bave

complated &8 e veata. A the and of the book iz &

scoring chart with instructions on how 1o Bgure ot
your acoal |, gasging your scores in relation o the
majority of people in your age group.

Have a watch or clock handy so that you can time
yourself during each test. Speed of answering is refat.
ed to speed of comprehension, so each test fas a time
Emit. A correct answer arrived at with licde delsy
shows quicker comprehension, yet it is better to
Brger awhile &nd arvive at the correct andwes, than 1o
Eive the wrong answer quickly.

When the tmae limic is up you should swop recording
your angwars, éven If you have mot complated che msr
{For your own interest, you mighs want o finish i,
though.) The charm of this book is that you can
choose to take tests adhering to the time Bmits, or
you can go through the tests without regard to the
time, simply viewing them as entertainment and plea-
sure—just a8 you would teckle a crossword purzle w
pass the time, s no particodar burry

W hope we have offered brain-teasers you will find
ecixing and anlightening, while slso providing you with
an 1Q scale you can use w evaluate yourself, Remam-
baring that the 1Q number gama gauges what you have
already learned, and not your capadty to kam, you
can mke advantage of it for sheerly enjoyable and
entertaining purposes.




GROUP I

ELEMENTARY
LEVEL
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Time limic 35

TEST

“C

FrinuLes

e rs——r——

1 Yvhat letter will complete this word?

2 Which one of these figures is wrong?

3 Add the two highest numbers and cake
away the sum of the three lowest numbers.

1% 13 9 i 23 19

10

4 KF63542equals 5263 4, what is
BCDEF!?

+ Join these syllables in pairs to make ten

words:

REC LET LOON SORE
AD Bal TOM FUR,
ER RO ERE TAR
Of, CAT EYE HER
8o S8, ouT LE

& Arrange these into four pairs:




¥ What are the kst two tarms in these

series!

z R Y 1+ W & 1T 9

8 Which is the odd one aut!?

(A} LIRA (B} MARKS
(Cy DRACHMAE (D) RAND
(E) FRAMNCS

9 Which is the odd one cut?

(%) YLAP (B APREO
{Q) VEERU O} RENCOCT
{E}) SHECS

10 Which of these is wrong!

11 Which date does not conform with the

others?
(A) 1584 (B) 1692
() 1729 (D) 1805
(E) 1980

12 Which is the odd one out!

(A) ELIGIBLE (B) SHEEFISH
{C) DELIGHTED (D) FOOLPROOF
(E) GNASHRG

13 Arrange these words in alphabetical order:
(4] ABRACADABRA  (B) ABOUT

(C) ABBEY (D) ABUNDANCE
{E) ABACLIS {F) AROLILA
{G) ABBOT

T-l Wha has changed his expression!

O
QOO

1§ Which of these shields are identical?

UACRD,

vIcK:
50U
OB Y

ORIA




' AMNSWERS TO TEST |

1 H (scoRE § POINT).
The word is ADHERE.
2 A (SCORE | FOINT).
When the diagonal bne from the base-line of the square
inchnes 1o the right. as in C, E, and G, the right half of
the square s bladk,

When it inchnes o the left as n 8, D and F the
bottom half of the square & black.

in A, the right half of the square should be black.

3 17 (sCORE | POINTL

d DFBC E@ECORE | POINTL

The letmers st e transposad @ ths same oroer as
e Hurmbers.

£ (SCORE | POBIT iF ALL ARE CORRECT; Vs FOINT iF B ARE
CORRECT)

REC-ORD EYE-SORE
CAT-ER OUT-LET
TOM-BOY SA-LCHIM
TABLE BRE-AD
HER-BAL FUR-OR

SAG BF CH DE

(SCORR | FONT IF ALL ARE CORRECT).

T P23 (SCORE | POINT IF BOTH ARE CORRECT).

Two separate series. Letters descend alphabeticaly, first
1o the rexd lemen, hen skppag one, Then Twid, and 50
on The numbers rise in the same way

B (B) scone | POINT)

All the other curmences coran the erters BA in that
order In MARKS these letlers are reverssd.

9 (E) (ycons | rom).

An aragram of CHESS. All the others are anagrams of
types of entertanment:
(&) PLAY

(B OFERA

10 H (scose 1 POINT)
The point has two bark instead of ane, and one =2 of
tail Seativers instead of two,

Il () soors 1 PoINT)

The digits add up to 1% In all the others they add up 1o 1B

(C) REVUE
(D) COMNCERT

12

12 (H) (sCOnE | POINT)
It starts s ends with the 2ame tao lehars, All the oh-

13 (B) () (G) (F) (B) (A} [T} gscons | pomT).

14 | scoes | powT)
The mouth shoulkd be the same as in Band K

1§ Band M scoaE 1 FoisT)
Remember to record your score.

Alhough all of the tests in chis book are gradea
wccording o difficulog, in any ooe section some prob-
lems are more difficult {or easker) than others, The
dividing line is sl between a difficult problem in ore
section and an easy one in the next bn the end, how-
ever, the fimal count of "easy™ and “@icule” problems
Is immaterial, because the ultimate ratings are based
an all the problems collectively,

Im impasing time Bmits, two factors hawe been
considered:

{|) The fact chat some problems require firly lengthy
wriRten answers (as opposed to simply writing 2 letter
or & rumberj;

ly, where writien answers are involved, not only has a
longer time been allowed, but tme has been @ken
fram that of comparatively slow writers.

Humbmri In dmprwhusm took our valunteers
of the amount of wrizing involved,
and bucause It calls for a greac deal of “ovrial and error”
deduction, Success depends larpely on making a lucky
guess among alternatives.
Crcher problems which caused delay in answering—or
fallure to answer correctly—weare B and |2, sach call-
ing for deductions beyond the obvicws. In the cse of
& the fect that ane currency i non-Eurcpaan would
ezt hawve been as strong an angwer a3 the one give in
the answer section.



TEST 2

Time limit 35 minutes

I What goes into the empty brackets?

44  [(3E5) 15
9%  (l&18) 128
T S I

2 Fill in the brackets. The word in each set
of brackets mast logically follow the previous
word and precede the following word, e.g.
library (BOOK) mark.

BULL

()
HOLISE
L
YARD
L )
BATH
£ )
FALL
()
SIDE

{ )
WWAY

3 Using your eye only, which is the missing
_i y |

o i B %

4 Which is the odd one out?

§ Arrange these strange-locking Insects into
four pairs:

&t % § 96
g & H°



6 What is X? ® What s X?

.—E.., 10 Complete these words, for which defini-
tions are given:
L:ILIL T T 5af
B Arrange the labels into four pairs: P ot b
El'&. T ot rewach hped
plalr Thrived
3@ tak off clothes. or pairg
[£] . They org

12 ‘Which of these does not belong?
1 18 1] B 24

4



13 Change RAIN into SMOW In three
meoves, changing TWO letters at a time.

RAITN

14 Which is the odd one gut?

(A) PROVERES
(B) RIJTH

(C) EZEKIEL

(D) CORINTHIANS
(E) NUMBERS

(E) PSALMS

I § Assuming that the top two stars are
correct, which of those below are wrong!

NOW CHECK YOUR ANSWERS AND
KEEP A RECORD OF YOUR SCORE.



ANSWERS TO TEST 2

I 1416 scowE | POINT)
In the: first exarnple, dide the left-hand mumber ty 4
and the right-hand rumber by &

In the second esample, dwide the -l rumber
by & and the right-hand number by 7.

Tharafors, in the third lne. dwide the left-hand
nurnier by B(14) and the right-hand number by (1 &).

1 DOG - BOAT - BIRD - WATER - OUT - WALK
(SCORE | POINT IF ALL ARE CORRECT).

3 C (scone | FOINT)

& F SCORE | POINT).

The: athers pai as foliows: Aand LBand K, C and || D

and i E ard | G and M. The comib does mat paie with
e

£ AF BG CH DE ([®SCoas)PomsT).

6 | gscone | POINT).

The initisls are the manths of the pear The wsquences &
is | for fainuary.

T D (sconm | poseT):

The triangle shouid be on the right-hand side of the
base-ine.

8 AF BH CG DE (scoasirom).

A and Feach egual | .

B and H sach equal |13

C and G aach aqual 12

D and E each equal 10

¥ B 5CoRE | POINTL

In wach section, the letters in the outer ring combine

with thase in the inner ring to form a word in corgunc-
o with LAMDL which & comemon to al the wonds:

15 LAND  ER
G LAND  LLAR

ouT LAND  BH

LIP LaMND 5

3 LAND B

GAR LAND 5

k LAND  SHMENT (X is B)

10 SCORE | FOMT IF ALL ARE CORRECT; SCORE ¥ POINT

IF & ARE CORRECT.)

PERSOMNMNEL PROSPERED
OPERATICN STRIPPERS
SUPERCEDE MNEWSPAPER
DESPERATE

IV AE BD COG FH (scone | POINT)

12X 18 (3coRE | POINT)

Al the others ane divishie by 4.

13 (CORE | FOINT FOR THE POLLOWING, OR POR OTHER

REQUIREMENT OF CHAMGING TWO LETTERS AT A TB4I):
RAIN

I SAIL

2 SNIP

3 SNOW

14 (D) (scoas | pomT).
CORTTHIAMS & in the MNew Testament: all the otiwers
are i the Old Testamenit

15 Fand H (scomE 1| POINT I BOTH CORRECT).
Remember to record your score.

MNOTES

Maost dme was lost by the volunteers on |, 2, B, and 11

Faw wers able to sclve | within the tme it yet one
person arrived at the answer almost immediately. He
wat a rathematics teacher at a high school! The rels-
tionship between the numbers outside the brackets
and those inside struck him Insmantly, subsmntiazing
the fact chat one persca will axcel in a subject for
wiich a spacal aptituda iy an sdvanoege, wharsss
another will be sturmped by it

Obvicasly, B took some tme to solve, as each of the
mathematical problems had o be solved Individualle
In 13, the necessity for changing TWO letters ar a
time created considerable confusion.



TEST 3

[T

I VWhat are x and y!

2 Which is the odd one out?

(A) CABBAGE
(B) HAPFY
() FELLOW
(D) KUASAAL
(E) GLIMMER

3 Complets words to fit the definitions. THg
number of missing letters is indicated by
dashes.

HAPPEM @~ -a-. IRE
DRESS --IRE
MOT e IRE
DIE ---IRE
WHOILE -+« |RE
DOMMNION -« |RE
BOG sxsas|RE
LAMPOOMN <<« |RE
ARBITRATOR ---|RE

17

ree Amie: 45 minutes)

4![‘ i&:umWMB-

which of the OUTLINES below will resule?

§ Which column does not conformd

A B c D E F
17 14 P 31 23 33
9 I3 I5 a1 9 8
3 il I7 7 3l 2
4 7 F ) 13 5 0
2 29 B 9 2 17
10 & Py 3 4] 3



& If the figure below were held in front of a
mirror and the mirror turned upside-down,

which of the other figures would be reflected?

=2
= 2N

T Which is the odd one out?

(A} STARLING

(C) GROUSE

(O} BLUETIT

(E) CLCKOO-ANT
() LARK

(G) NIGHTINGALE

8 Which row is wrong?

DAAVN
NAANY
LA/N NV
b VAN

9 What is owo days after the day afrer the

10 Which is the odd word out?

(A) MEDICAL (E) RECITAL
(B) BATTLE {F) CLAMED
(C) ARTICLE (G) TABLET
(D) BALLET

1§ Give words described by these defini-
tons. Each word must contain AND.

(A) Evergreen shrub

(B) Lizand-ike anmal

() Saray

(T Foctwear

(E) Baton

(F} Part of Scotland

(G) Sweets

(H) Have many love affairs
() Spend wasefully

() Straner



13 1 3(76) equals 212 and 4(320) equals
125 what is 5(6100)?

14 Without turning the page upside
down, which of these numbers will not read
the same when turned upside-down?

816918
313818

‘1 8998
| 1691
‘19696 |

15 One of these words is spelled incorrectly.
Which one?

(A) RECENVE

(B) IMMANENT
{C) FASCIA

(D) DESSICATED
{E) BUDGERIGAR
{F) SCHISM

(G} PRELIMORS
(H) NASCENT

@ LEMUR

@ CHEETAH

MOW CHECK YOUR ANSWERS AND
KEEF A RECORD OF YOUR SCORE.



AMNMSWERS TO TEST 3

1 Xis &Y & | (SCORE 1 FOINT IF BOTH ARE CORRECT).
Startig # rumber | and mowng to aternate segments
| 2 3 4 5 &

Starting &t number & and moving the same wiy

& 5 % ¥ % |

2 (D) scoRE | FOMT)

In KLIRSAAL there are two identical adjacent vowels. in
dl the other words there ane two identical adjacent con-
sonants.

3 (SCORE | POSNT IF ALL ARE CORRECT; 14 I 7 OR 8 ARE
CONNECT)

TRAMSFIRE

ATTIRE

COMSPIRE

EMTIRE

EMPRE

QIACHMIRE

SATIRE

UMPIRE

4 B (SCORE | POINT).

5 E (SCORE ) POUINT).

Adding up each column

Colurmn A ....... 7% Column D ....... 90
Column B ........ B0 Caolumn E .96
ColomnC ....... g5 ColumnF ....... 100

& B [scoRE | POT).
The fact that the MIRROR. (ot the figurel) is held
upside-down will make no dference to the reflacion.

7 (E) (scORE | FONT).
CUCHDO-PINT is a flower—the mare commaonty
known arum or wale-robin, All the others are birds

B C (sCORE | POINTL

Except for C, gach row contains | equilatersl triangle, 2
right-angled triangles with the base at the bottom and 2
with the base &t the op.

In C there are 3 rght-angled trangles with the base
at the top and only one with the base at the bottom.
9 Tomorrow (SCORE | POINT)L
The day before yemterday was two diys go; the day
terday) is TOMOSRCWY

10

10 (D) (scoRs 1| POINT)

Apart from ths, the words are pared in anagrams
(&) MEDICAL with (F) CLAIMED

(B) BATTLE with (G) TABLET

{C) ARTYCLE with {E) RECITAL

Mo word shown forms. an anagram with BALLET,

11 (EcosE | POINT IF ALL ARE CORRECT) b POINT IF I OR

# ARE CORRECT)

(A) OLEANDER  (F) HIGHLANDS or LOWLANDS
() SALAMANDER (G) CANDY

(C) WANDER (M) PHILANDER

(D) SANDAL () SCUANDER

(E) WWAND () COLANDER

12 E(scoam i POINT)
The diagonal siat from top keft 1o bottom right should
pass under the other siats

13 3020 (scomE | POINT).

The first two dights an the rght side of the brackets ane
divided by the digit on the left to gve the first diga
ingiche the brackets.

The rernarsng rumber on the right of the brackets
is multiplied by the digt on the lelt side of the brackets
o give the remaining number inside the bracksts,

14 C (SCORE | PONT).

1§ (D) (SCORE | POINT).
This should be spelleg DESICTATED,

Remember to record your scors.

Cuestions 3 and 11 caled for a fiir amount of writing,
which &5 allowed for In the dme limit.

A few voluntesrs were stumnped by 6, jumping st what
appeared to be the obvious, but overlooking the vieal
fact chat tha reversal of the mirror makes no differ-
ence to the reflection,

Mary lost paints on 7 and |1 in the laster, (A), (B},
(H), and (]} caused mast traubile,

In |5, the Girly well-recognized general weakness in
spelling was revealed Remarkably, tweo chefi falled o
spot. that DESICCATED was spelled incorrectlyl



TEST 4

Tirme lirmie: 30 minutes

I Which of the symbols at the bottom 4 Which Is the odd one out?
should take the place of X? (A) SHORE () TUTOR
() KEFI (D) ASSE
—
et

5 Which letter does not conform with the
others!

O ==x)| vy
e L@V7

X [ . g
',..I--..._ L ) ) ( & What WORD is represented by X?
oS e ' : T TR O 1
2 What is X! T Which is the odd one out?
2 | 8 5 9 (A) TESTAMEMT (D) GRANAMEN
§5 ¥ g o (B PROMINENCE (E) FLAMENGO
4 2 i i % (0] FLAMENT (F) STAMBNS
3 Supply the missing letter. (Proper nouns 8 Give words to fit these definitions. Each
not allowed!) word must contain a part of the body:

(A} Apparatus for applying mechanical power
(B) Fast time for a musician

(C) Gardersr's means of transport

(D} Uttering of spesch

(E) Mausical pal

(Fy Security device

21



1 1 Give words to fit these definitions. Each
word must start with the last two letters of
the previous word,

(A} STAR

(B} FISH

(C) BND OF THE LINE

(L) CLISTOMARY PRACTICE

(E) ARMY QFFICER

(F) DOVORCE ALLOWANCE

(G) SYNTHETIC ABER

(H) ATTACK

() VWORD EXPERT

() THOROUGHFARE

22

12 Which are the weak links!

13 What four-errer word placed inside the
brackers will complete all of these words?

AfeseNT

SUB [axxs)
(== RICK

14 What are X and Y7
T B8 &£ % 5 D XY 2 R

1§ Arrange these shapes in order according
to the number of sides, starting with the one
with the least number:

(A) OCTAGON
{B) HEXAGOM
() PENTAGON
(D) DECAGON
{E) TETRAGOM
{F} NONAGON
{G) HEPTAGON

NOW CHECK YOUR ANSWERS AND
KEEF A RECORD OF YOUR SCORE.



AMSWERS TO TEST 4

1 A (scome | pomT)

In esach roesy, the first sembiod is the same a5 the second
in the presious row, and the other syrmbols continue in
the same ordes

2 1 (SCORE | POINT).

The first column totak 2. The second column totals [0,
This pattern continues, 5o the §nal column should total
I3, by the addition of 2

3 | (SCORE | FOINTL
The word 5 ADJUST. (Datiun & ot alowsd)

4 (A) (SCORE | FOINT).

;tanagmuﬂ-iﬂﬂ& Al the: others ane aragrams of
(B) PEE

() TROUT

(D) BASS

§ L (sCORE | POBNT)

The bindk (the back porton) should be on the right of
the letter

& SEPFTEMBER scome | posT)

These are the nurmnber of days in the months Seprbem.
ber is the only month which has two 3l-day months
before it and one after L

T (B) (scome | poaT).
All other words comtain AFERN.

B (SCORE | POMNT IF ALL ARE CORRECT; % POINT IF § ARE
CORRECT)

(A) rralCHIMNe

(B) allEGro

(C) wiHEELamow

(D) delIVERY

(E) sHIFmate

(F) alaRm

Pag c bf dk ¢ h

10 21 (SCoRE | POINT).
The ruriers morease by 3, 4.5, 6, :d 7.

(FCORE | POINT)

23

Il (SCORE | POINT IF ALL ARE CORRECT; V2 PORNT IF B OR

# ARE CORRECT)
atenSk AlLmoiY
SEaTE YT
TEmirl 5 OMsET
USaGE ETymaolagST
GEneral STrast

12 G and H (scong | POINT).

13 LIME (scosE | pomim)

Thee wornds are

akment

sufshme

lnerick

14 Xis4 Y is || (SCORE | POMT ¥ BOTH ARE
CORRECT).

Tt alterrate sares

Starting with the first number; 76 5 4 3
Startirgwith the secondnumber: 8 9 10 11 12

I 5 (SCORE | POINT IF ALL ARE CORRECT; ¥ POINT IF &
ARE CORRECT)

(E) TETRAGOM — 4 sides

(C) PENTAGON — 5 sides

(8] HEXAGOMN — & ades

(G) HEPTAGOMN — 7 sides

(A) OCTAGOMN — B sides

(F] MNONAGOM — 9 sdes

(0) DECAGON — 10 sides

Record your score.

NOW TOTAL UP YOUR SCORES FOR THE
FIRST FOUR TESTS AND COMPARE
THEM WITH THE RATINGS THAT
FOLLOW.



Two of the problems—8 and | |—require fairly long
written asswers (aliawed for in the dme limic).

Tha voluntesrs experienced most difficulty with 8, 11,
and 15,

RATINGS IN GROUP 1

TEST | Average 8% points
TEST 2 Average 7% points
TEST 3 Avarage |0 poings
TEST 4 Average ¥ paints
TOTAL FOR THE GROUP
Qut of a possible 50 points

Ower 52 Excellent

45-52 Vary gaod
3545 Good

35 Average

30-34 Fair

Under 30 Poce

Espechally if you scored 26 or under, it is suggested
thar you go through the problems again, In conjunc-
tion with the answers and explanations, 5o that you
will Bave 3 becte+ understanding of the tests to follow,




m - _
CHALLENGING
LEVEL




TEST |

Time limit: 20 minuces

| Sclve the clues, and mu_l:luys’ names will
appear in the vertical columns headed x and y.

» ¥

| Fant birdl

Ormamental coromet

Dickim's house

f Cravid's weapon

Feed o bareer

Cistom In the convent!

2 Which triangle is wrong?

Q <7
oy

—

3 Square the third-lowest even number and
suberact the result from the third-highest
odd number:

F &7 4 i 58 &5

2 85 1 B 10 4
E M 5 12 B 3
7 41 1 N & &3

28

4 Which is the odd one out!

(A) FEDERATION
(B) OUTSPAN
(C) CANOPY
(D) COUPON
() ABLITS

{F) REDCAP

§ What should go into the empty segment?




7 What is X! | ® Which words go into the brackets! Each
word miust logically follow the previous word

and precede the next word, e.g., putting
(GREEN) land.
COMMON
& ( )
KICK
& )
m
< )
BACK
O ( )
STATION
& }
8 TWO different words can be made by PECE
inserting two differant leters into the blank @ )
space. You must give both words. TiME
S { }
SPODN
H }
STOCK.
0 ( )
WISE
B ( )
DOwN

17



10 Which of the numberad circles at the
bottom should be placed at A, B, C, and D?

S L.O90
ceeeO

QOO
EASAORS

‘II VWhat iz the difference becween the
lowest number and the average of all the
numibers?

3 % 12 I5 W 23 X

12 Here are seven common words. VWhich
is the odd one out!

(A) D

(B} MIND

{C) MILL

(D} ULVID:

{E) VM

{F) MiX

Gy CMIL

13 Give words to fit the definitions, Each
ward removes one letter from the word
above it
o Place for cgarettes
...... Mot on the rght course
----- Go off courses
T A Shaliorw vesss
T Sea-fsh
" Musical note

14 Which three pleces below will make the

NOW CHECK YOUR ANSWERS AND
KEEP A RECORD OF YOUR SCORE.



ANSWERS TO TEST 1|

1 X s WILLIAM: Y s FRANCIS (SCORE | POINT IF

s W i F i
t | a2 K a
b L & A k
s L i N §
p | t Kk
h A  +] | t
a M u 5 &

2 F (Scong | paiNT).
The shorter side is shaded In &l the other triangles the
lonper side is shaded
3 3| (scomE | POMNT).
& (C) (scomE | PoINT)
CAMOPY cortars three consecutive lethers in their
cormect orgder: All the other words contain thees corsec-
Ut IS IRETS o Meverss ook
§ TNA (SCORE | POMT).
Each word starts with COM

The sables that folow are read backwards n the
oubar sections:
COM - FORT - ABLE
CO - MAN - DO
COM - MISER - ATE
COM - PARE - ON
COM - PAT - RIOT
COM - PLI = AN
8 A (SCORE | POINT)
T 4 [(SCORE | POINT).
Mowing dodowise and starting with number | in the
upoer hall, compare aach number with that in its oppo-
site segment | & doubled, gving 1 in the opposite seg-
ment: the next number (2) 5 halved. ghvng | in the
ble the next, then hatve the next

8 in the upper hall i€ hahved 16 give 4 in the oppa-
site segmert,

{An sternative solution is to double gl the odd
numbers and halve all the even numbers)

B E (EMNEMY) and O {(MOMEY) (scoms 1 posiT =
BOTH ARE CORRELT).

19

¥ (SCORE | POINT IF ALL ARE CORRECT: ¥ POINT IFS OR

(&) PLACE (F) MEAL

(B) STAMD (G) TABLE

(Cy LINE (H) FEED

(D} RRE ( MARKET

(E} MASTER [} CRACK

10 AZBEC ;DT (scons | POSNT i ALL ARE COR-
RECT; ¥ POINT IF 3 ARE CORRECT.)

Careful examination of the spots indicates the direction
of rortaton
The first row rotates from feft 4o right; the second
row nogates Srom right o lkeft thee thind row rotates from
right 1o befl; the fourth row rotates from &ft 1o Aght
11 |3 Scone i POINT).
12 (B} (scong | momT).
Al the other words are made up of Roman numerals.
M & mot a Roman numeral
13 (SCORE | POINT IF ALL ARE CORRECT)
AEHTRAY
ASTRAY
STRAY
TRAY
RAY
Y
&,
I4 b, e, and h (Scoas | POSNT B ALL ARE CORRECT)
15 140 ;scors | rOINT),
Starting with 3 in the upper hall the rumber in the
oppasite segment multipies # by 2. The nesd number
(") is multiplied by 3; then by 4, and 5o on Theredore,
20 & ruiphed by 7 to gee 140

Remember to record your score.
NOTES

In question number 6, the volumteers did not always
realize that the stripes in the te are diagonally
reversed in a mirror reflection,

Mumbars 7 and 15 seemad 1o give the greatest
difficulty, though much tme was lost (ot abways to
prodisce 3 successful result) on rumber 9,



TEST 2

me limit: 20 minutes

I Which cup is the odd one out! 4 What comes next?
: 124 Bl & 32  eAl .

§F Which is the odd one out!

(A) HEARD (D) URCHN
(B) RUSHING (E) DIAGNOSED
(C) CLIFRER (F) MONEYED

& What are a, b, ¢, and d?

3 I I 1 4 B 3 5
S & 5 % & & b e 0

7 What letter should go into the empty
space!

2 What is the TOTAL number of spots on

the rear side?’ b
= * &
331 ‘
.8 =
& = |8 . =
e .
. @ sil® =
® olv 0|0
& & o I.
s 8 What letters should be substituted for X

and Y on the last cubel!

3 The same four letrers in a different order
will complete these words:

(A) ----ted
(B) 1----
[
() ey----|
© culp----




9 [f this shape were folded along the dotted
lines, it could be made into a cube:

like this:

If this cube were turned upside-down, which
of these faces would appear at the top?

o8

10 What are x, y, and 2¢

A1 3 L 2 & M 13 %
015 12 S 19 x y z

11 The same word can precede each of
these word-endings:

{A) CASS

(B) BON

{C) TON

({O) GO

(E) EEN

12 Examine the first three car license plates
and then complete the st one:

a6 | HE
(wes

GFH 759

FGH

13 Whatare x, y. and z!

12 | 63 | 68

18| 75 | 85

25 | B8 (104

X | 102 (125

R

133| 2




14 If this design were turned ninety degrees
counter-clockwise and held in front of a mir-
ror, which of the designs below would be
reflected!

32

15 All of these might be found in a subway
station, but you must unscramble them firsc

(A} KENERKLOCTO
(B) PRAMLOFT
(C) LETISRUNT

(D) TORDUCNOC
(E) SEXPRES

NOW CHECK YOUR ANSWERS AND
KEEP A RECORD OF YOUR SCORE.




AMSWERS TO TEST 2

I G mconE | POMT).
The handie is in the wrong position & compared with B
and O

2 29 (SCORE | POINT).

Opposte faces of a die add up 1o 7. Thersfore, moving
horizonaly from eft to nght and starting in the top
mowoppositefaesare 6 4 | 3 5 2 | 3 4

3B A L E/inamy order) (SCORE | POINT IF A1L
ARE CORRECT; ¥ POINT IF 4 ARE CORRECT)

The wards become

(A} BELATED (D) EYEBALL
(8) LABEL {E) CULPABLE
(C) BLEAT

4 B (sComE | POINT)
This i an ardinary "doubling” series, bul incormectly
obvoust | 2 4 8 |6 32 &4 128

§ (B} (scomt | PomT)

This cortains SHIM - part of the leg, All the others con-
tain parts of the head or face:

(A) HEARD - cortains EAR

(C) CLIPPER - contains LIP

(D) URCHIN - cortains CHIN

(E) DIAGNOSED - contairs NOSE

(F) MOMNEYED - comtains EYE

SaisddbisT cilddis T SCORE | POINT iF ALL
ARE CORRECT; ¥ POINT IF 2 OR 3 ARE CORRECT).
I 4 3 & 7O

Starting with the second term and continuing in the
Same Wy

T OB B Ma)
Starting with the third term:

I 3 5 1w

12 B B DBl

T Q (SCORE | POINT).

The word is REQUIEM.

B XisL Y s Q (SCORE | POINT IF BOTH ARE CORRECT)
¥ POINT IF ONE |5 CORRECT)

The front face of aach cube advances the letter on the
right face by four positions in the alphabet. The top face
advanoes the front face by three positiors on the first
cubse, then by four positions, then by five positions. and
52 on. (Alermataely; increase the top faces by 7 posi-
oS A A tire, the othee faces by 6 positions 51 & time).
® C (scone | PONT)

10 xis 15 yie T; 2 i 20 (SCORE | POINT IF ALL ARE
CORRECT; ¥ POINT IF 2 ARE CORRBCT).
There are three seres.

Starting with the first term and taking every thard
term thereafier:

A L M O 5—The only letter that will com-
piete & word & T (ALMOST }—represented by y The
rumber that follows each letter rapresents the position
in the alphabet of that letter Thersfore, T—represented
by y—should be folowed by 20 (T i the 20th letter)—
the value forz

Starting with the third term and taking every third

term thereafter: 3 & 9 12 15 (the value for x).
11 CAR [scoRE | POINTL

The weords bacome:

(A) CARCASS (D) CARGO

(B) CARBON (E) CAREEN

(C) CARTON

11 6679 (SCORE | POINT).
The frat three bcense plates foliow the same patiern

The first letier gives the first digt (H s 8—as posi-
ton in the alphabet).

The second letter pves the second digit by redic-
ing its alphabetical positon by | (G—the 7th letter—
b orries. ),

The third letier gives the third digit by increasing #s
aiphabetcal postion by | [ becomes 7, increasing its
Geh position by 1),

Therefore, in the final licerse plate

F gives & (the &th lettar)

G gves 6 (reducing the Tih letter by one)

H gves § (increasing the Bth letter by one).



13 xis 33 yis 117, 208 173 (SCORE | POIMT IF ALL ARE
CORRECT, 14 FOINT IF ] ARE CORRECT),
Mowing down the left-hand vertical colurmn, the mam-
bers incresase: by 4. 5, & and so on. 25 should be
ncrassed by B o gve 33—the value for x

The recdie vertical column moneases by 10011, 12,
and 50 on. 102 should be increased by 15 to gve 17—
thee vk for

The right-hand vertical column NCreasss g
snely—I| 3, 15, 17, 19, and 36 on 148 should be
rcreased by 25 to give | 73—the value for z

14 A (ScosE | PORT).

15 (SCORE | POBNY IF ALL ARE CORRECT; ¥ POINT IF 4
ARE CORRECT)

(A) TOKEMN CLERK

(B} PLATFORM

{C) TURNSTILE

(E) EXPRES:S

Remember to record your score.

34

Definively the most difficuly test 2o far, this ane pro-
duced very low scomes by the volunteers.

Questions & and 10 gave examples of the “mudeiple
serien” type of question, that is, two or more series
embraced in an overall series, where every second,
third, or fourth term has to be considered. It Is good
to become sccustomed to this type of question since
the same principle may be repeated in lcer tess

Mumber 4 is an mample of a smple series incorrectly
;::d.@ymmmmﬂrﬂbpmﬁm

Questions 4, 6, 8, and 12 gave the greatest difficulty.
The time limit was extended to compensate for the

tests complexity.



1 Which is the odd one out?

(A1 AMBLS (D) FAEOHN
(B8) TROCHEE (E] SPOMNDEE
() RONDURE (F) DACTYL

2 Which one is different?

3 What comes next in the series!
1 2 35 G4 &0

4 The black ball moves one positon at a

time clockwise. The white ball moves two
positions at a time counter-clockwise.

a) ln how many moves will they be together again?
) in whisch corner will they be when they meet?

£ What is X{

| i 3 = 5 i FAR
) |4 | i i I g !
10 3 4 |8 2 | g8 &6
g 5 i 12 2 2 i 4
v SO & 3 13 [ 2 10
2 5 5 [ 6 10 2 X

& A sentence may conceal a “hidden™ word,
Thus, in this sentence the word ENSIGN &
“hidden”: HeathEMNS GNore Christians.
What “voices™ are hidden in these sentences!
(A) Parsfa” set to music, is very popubar

(8] Me Allsop ran on to win the race.

{C) They often organiee concerts

(O Rumbas, ssmbes, and waltzes ans myy favorite dances.
(E) The wotal tonraps is ten thousand

7 If the two dotred lines are placed togeth-
er, what will be the result?

s



B What are x and ﬂ'

aDYAR
SPASD
an
D

o

ha

9 Arrange these In order of length, starting
with the shortest

(A) DECAMETER (E) DECMMETER
(B) CEMTIMETER (F) METER

(C) MILLMETER {G) HECTOMETER,
(D) KILOMETER

10 Which flag is wrong—and WHY?

|

11 Who is the odd man out!

(A) MARCONI (O} BAIRD
() CARLSO () WHITNEY
(C) EDISON

AR (T
ZAND
an
NDAND

.
.

o/

13 Which is the odd one out?

=S

Gyl 5 2
ko)
V- n
qdq pp ’
< :
A @



14 What comes next in this series?

1072 1055 1021 %53 8I7 545 -

ls_ Complete the final square:

[ 935 824 | [ 713
148 | | 365 | | 582
KWG| | JVF IUE
UAM| |[wcJ| | YEG |
X7Z2 | | wey

3U7 5W4

a7

NOW CHECK YOUR ANSWERS AND
KEEP A RECORD OF YOUR SCORE.



ANSWERS TO TEST 3

¥ THEME (sCORE | FOINT).
Thit is the mesult of placing tham together:

1 (C) (SCORE 1| POINT).

ROMDURE & a round outline or chject.

Al the others are reetrical feet

(&) LAMBLIS: a short aceent followed by a long one;
(By TROCHEE a long accertt followed by a short one:
(DY FAEOM a long accent (placed smwhere) and
three short ones

(E) SPOMNDEE two long accents;

{F) DACTYL: a long acoant followed by two short ones,

2 D (sCORE | POINT).
The lines are of equal length. In &l the cthers. one lne s
lorger (or shorter) than the othes

3 16 (SCORE | POINT).

Each rumbaer reverses the prevous aumber and adds |
to each digit. Thus, in the first two terms, 16 reversed &
61, which then charges to 7L In the final term, 50
reversed bacomes 05, which in tum becomes |6 by
adding one o each dgit

4 (A) 7; (B) C (SCORE | POINT IF BOTH ARE CORRECT; ¥
POINT IP ONE IS CORRECT)

Black Ball Whize Bal
|t move D &
2l move E F
3rd mrcwe F o
4sh move G B
Sth move & G
&th move B E
Tth move C C

§ 5 (SCORE | POINT).

Colurns hasded by an odd numiber add up 1o 30.
Colurns headed by an even number add up to 40. The
last column adds up 1o 35, to which must be added 5 to
bring it up to 40, as this column i headed by an even
(4T])q b

& (SCORE | POINT IF ALL ARE CORRECT; ¥y POINT IF 4 ARE
CORRECT))

(A) FALSETTO

(B) SOPRAMND

(C) TEMOR

(O} BASS

(E}] ALTO

B x5 11; yis 6] (SCORE | POINT IF BOTH ARE CORRECT;
¥2 POINT IF OME IS CORRECT),
in the frst circle, the number in the top left quarter is
squared and then reduced by | in the capasite dagonal
auarter; the number in the top right quarter is cubed
and then | added to ghee the number in the opposte
lowwer quarter

In the second circle the same procedure & ol
lowed, except that 2 & deductsd from the sauared
rienber and 1 & addad 1o the aubed number:

Therefore, in the third circle, 3 & deducted from
the soyusre of B (64 becomes 61, the value Tor y), whie
3 is added to the cube of 2 (B becarnes | 1, the value
for x).
D (SCORE | POINT IF ALL ARE CORRECT; ¥ POIMT IF § AR
CORRECT)
() MILLIMETER,
(B} CEMTIMETER
(E} DECIMETER
() METER
(A) DECAMETER
(G) HECTOMETER
(D) KILOMETER

10 (B) ;score | pomT). The stripes should siternate
from the edge of the flag, dark-lighe. In (B) they begin
ight—dark.

i1 (B) scome | roanT). Caruso was a singer. All the
others wene inventars.

2 xis9 or 24 y ls also 9 or 24 (SCORE | POINT F
BOTH ARE CORRECT).
In each case, the numbers. at the top are divided by 4 n
the opoosite quarter and | is added

An altermative solution s that the numbers in the
I quarters are muttplied by 4 n ther opposte
quarters and 4 is deducted from the result.



13 C (scomE | POINT).
in C thens are 3 curves and 6 Straight bies i all the
cthers there are & curves and & straight fines.

14 | (scomE | paiNT.

The numbers reduce by 17, 34, 68, 134, 272, and 5o
on—544 thersfone reduces the presdous number 545
by |, (The terms reduce in multiples of 17.)

15 scone | paiNT)

In the top Ine, all the way through, whether wsing let-
ters or numbers. they reduce by ane poation in each
SUCOESSVE SQUEIMT.

In the bottom bne, they incresse by b postions,
excapt for the last termn, which meduces its position by
three places fom that in the prevous square.

Remember to record your score.

MNOTES
The numerical problems seemed o give our volun-
teers the greatest difficulty—23, 5, and 14 particularly,

though 5 was based more an logical thinking than on
the numbars thamselves.

Few succeaded with guestion numnber | and, surpris-
ingly (now that the metric system has bocome more
malnstream), number 9 caused a lor of problems, even
though (B). (C). (F). and (D} were correctly placed.



TEST 4

Time [mit: 45 minuces

after 75 minutes and then continue far ' :
m;::mm] o 3 Which of the figures at the bottom should
follow the six figures at the top!

I What s x!

4 What comes next in this series?
I W W1 X Xy X DO

§ Complete this crossword puzzle, choosing
words from the list below:
TLULIP
U z BURST
QUEST
EAGLE
RATIO
FULLY
LEVER
| AMGER
TORCH
TEETH

40



6 Which is the odd ane out!

(&) ESOPHAGLUS (D) STERMLM
(B) SCAPULA (E] ULMNA
{C) CLAVICLE (Fy HUMERLIS
7 17ist 101

andas 195w _!

8 Join these words to form 10 ather words
or word pairs.

TEN DEM ORC MATE LIGHT
SOHO0OL SUN HOME HID DON

® Which currency belongs to which country!

(A) KRONE (1) SPAIN

B URA (2) DENMARK
{C) PESETA (3) PORTUGAL
(D) ESCLUDO (4) RLISSIA

(E) RLBLE (5) ITALY

10

0 1 What scanes neict I this seriest

1 0 i E &8 E 12 7T
¥ - % =

12 All of these shapes—except one—are of
the same area. Which is the exception, and is
it of greater or |esser areal

?
A B
| E




13 Which of these is wrong?

"A thing of beauty
& A joy for ever”™

Jobin Kaate, | 795- 1821

“If you can keep your head
whion af about youlAre
B losing thesrs...”

Rudyard Kipling. 18651935

Ty heart’s in the
the Hghlards, ry
c heart is nat here”

Robert Burrg, 1739-1796

“If music be the food
of love, play on.”

Wilkamn Shakespeare, 1565-1616

14 What does the third clock show?

41

1§ Which number is nearest to the number
which is midway berween the lowest and the
highest number!

I 4 # 7 i,
gl F % 3 W
ga 12 8 g9 0

NOW CHECK YOUR ANSWERS AND
KEEP A RECORD OF YOUR SCORE.



AMNSWERS TO TEST 4

I 55 Scome | POINT).

In each gquarter; add the numbers in the outer fing, then
those in the next ning, and then the next

in the top left quarter these totaks descend:

40 3% 38 37 (the single number in the cemter).
In the top right quarter they descend:

23 22 11 20 (the single number in the cester)
In the Aght lower quarter they descand

1S 114 113 112 (the single nomber in the cemtes),
Therefore, in the lower left quarter they desosnd

58 57 56 andthen cbvioush: 55 (x),

2 E (ScO®E | POINT).
Both ines are shorter than those in the other angles.

3 2 (SCORE | POMT)

The figure i retating counter-dodosise. three faces at a
time. The desgns on the respective faces can be dscon
ered by sxaminng the fgures at the top, which are in
this saguance:

[o]e MO [@ jp™em

4 00KV scomE | POINT).

First chanpe the Roman numerals inte madem numerals
| 3 & 10 TR 4 6

i can be seen that the tenms inorease by:
23456ad7.

Therefare, the final number must ncreats the prencus
ore by 8 (2B noreases o 36, or X000 in Roman
numerals)

£ ErmrEn OF THESE SOLUTIONS SCORES | POINT.

QIUIAIR
AlG|L
TIO[RIC|F

~{|rm{rm{—|

43

& (A) (SCORE | POINT).

ESOPHAGLS & the canal from the mouth to the stom-
ach. All the others are bones:

(B) SCAPULA—shoukder blade

(0 CLAVICLE —colarbone

(D) STERMNUM—breastbone

(B} ULMNA—rner bone of the forearm

(M HUMBRLS—bone of the upper arm

T |13 ScoRe | POINT).

In each case, the number is multplied by 6 and | s sub-
tracied fram the meudl

8 (SCORE | POINT IF ALL ARE CORRECT) b POINT IFR OR ¥

ARE CONRECT)
MOMN KEY

ORC HARD

HID DEM

SN DAy

LIGHT BLS

CHECK METE

HOME LAND

HESH WY

SCHOOL BOY

9 (A) (2): (B) (3% (C) (1): (D) (3 (E) (%) (scone
POINT IF ALL ARE CORRECT).

10 (scoRE | PORNT)
76

135

11 F(5CORE | POINT)

Each letter & the ritid lemer of the previows number,
therefore:

4 (FOUR) & fallowed by F

11 G is of LESSER area than the others, which are all
of the same area (SCORE | POINT).

I3 C(SCORE | POINT)
The definite article (THE) is repeated n the second ine.



14 FIR sconE | pommT).

The frst lether is indicated by the posgion of the hour
Fand relative 1o the haurs—in this case &, that & the
sixth lether (),

The fest kettar i dhown By the poston of the see-
ond harel. Hene i is on the rnth second, and the nimth
letier is L

The therd letter is indicated by the position of the
mireiie hard. As it ponts 1o the eghtesnth minute, &
shows that the letter i§ R—ihe aygiieerth latier in the
alphabet.

15 1& scoae | FomT).

Record your score.

WITH THE RATINGS THAT FOLLOW.

MNOTES
This was a dificule vese for cur voluntesrs.

Questians |, L 4, and ¥ galnad the most comrect
answers, but 3 and 5 might have, had they really
puzzled,

m |3, & was surprisingly easy to overlook the fact that
tha definite article was repeated. When a book (such
as thinl) is in the proof sage, before being printed, ix is
the job of the proofreader to spot ary solecisms—
which creep in insidiously, however carefid the type-
semer has been. Proofreading is itself a wery specil-
fzed job, and yet, surprisingly, it |5 easy encugh to
overiook & printing error like the one In guastion |1,

TEST | Average 7 points
TEST 2 Aoerage 5 172 points
TEST 3 Average B points
TEST 4 Average 5 111 points
TOTAL FOR THE GROUP

Cunt of & possible 60 porres:

Orvar 48 Excellert

40-47 Veery good

-39 Good

26 Aoerage

20-25 Fair

Under 20 Poor

Although most of thess probilems were more difficult
than those in the pravicus group, a score under 20
implies that you should try to acquire a better under-
standing of these types of tests. & would be a good
idea to retry all the problenns up wo here, in conjunc-
tion with the answers. Aa the final ratings—given at
the end of all three groups—are the important ones
for assessing your 1Q, do not lose beart if pour scores
up untd now are low. You may still make up grownd in
the final growp which follows.



GROUP I1i

MAS TERFUL
LEVEL



TEST |

Time Emit { | howr and | 5 minuces)

(You may rest after 45 minutes and then continus for

another 30 minutes.) 3 When a dart lands in an even number, the
next throw lands |t in the second odd num-
ber clockwize.

I Complete these words, using all the let- When a dart lands In an odd number, the

ters contained in this grammatically incorrect next throw lands It in the third even number

sengence: clockwise from the previous throw.

HERE IS TEMN FAT CATTLE As you can see, the first dare has already

(A}-E-R-5-M-N- been thrown.,

(B)-R-MN-P-R-N- Four more darts are to be thrown. What

2 Which of the lower circles should take the
place of number 52




§ What letter starts the last word?
PATCH
KINK

TEAS
—END

& A clock shows 9:25. If it were held upside-
down in front of a mirror, which of those
below would be reflected!

T Which number in the bottom line should
come next in the top line?

I3 16 20 20 % 88 |18 W -
7T 19 17 12 66

a7

8 Find the words for A, B, C, D,E, F G, and
H:

9 Which is the odd one out?

(A} USDA
(8] MATC
{C) MASA
(D) KR

{E) MNAFTA

10 The top band rotates counter-clockwise,

The middle band rotates clockwise.

The bottom band rotates counter-clock-
wisa.

Each movement brings the next number
into position, and there are eight numbers on
each band, continuing In the same arder on
the hidden sides,

After T moves, what will be the sum of the
three numbers in the vertical column above
A, and also the sum of the three numbers
above B?




11 'What comes next here!
| B2 7 6 41 285 21 -

12 What is X!

T 0

[ 15 | B

FRE
7 M
H 12 |
19 | A
X 2

13 Which of the numbered figures at the
bottom should take the places of A, B, and

: :ﬂ{@#@
PERBE
YRR
3@ 04

14 What is X!

15 A advances | place, then 2, then 3, etc,
increasing its jump by one each time.

B advances 2 places, then 3, then 4, etc.,
increasing its jump by one each time.

C advances 3 places, then 4, then 5, etc.,
increasing its jump by one each time.

Which will be the first to reach 25
EXACTLY?

M1l
il

NOW CHECK YOUR AMIWERS AND
KEEP A RECORD OF YOUR SCORE,.




ANMNSWERS TO TEST |

I (SCORE | POINT IF ALL ARE CORRECT)
(A} REFRESHMENT
(B) TRAMNSPARENT
(C) CONTIMENTAL

2 E iscoes | POINT)

a moves one place at a time clockwse,

& moves one place at a tme counter-clockwise,

€ moves two places at 3 time dockeise

d moves 1o and from opposite segments;

e mowes counter-clodosise, first one place. then twe,
then three, and so on

3 6B (scomk | POINT)

Ist throw . 18

2nd throw . 15

3red throw _ 8

4ith throw . §

Sth throw . 18 {again)

Total &8

4 MARK TWAIN gscors 1 romT

The four cards at the top indcate the first 23 letters of
the alphabet

Aeol earsuptothe 5. |5 e Ao E
Areof dubs uptothed . 65, Flol

Ape of spades uptothe 7 10-16 o Jto P
Ace of damonds uptothe 7 . 17-23, or Qta'W

£ V (scont | POINT).

Ghving each letter a value according 1o its position in the
aighabet. sach word must have a total lettervalue of 45
The three letters of the urdnshed word have 2
total of 23, which must be increased to 45 with the
additon of 23—that & the 21nd letter of the alpha-

bet—Y

6 b (SCORE | POINT).

T £& (SCORE | POINT),
The rumbers at the top are divisible by 3 and 4 alter-
nately

The ary number in the bottom lne that i divisible
by Jis 66

8 (SCORE | POINT iF ALL CORRECT; 1 POIMT |IF 7 ARE
The position of the letters from A to H indicates that
the words are considersd in & dockwise drection. Start-
ing with OUT, &nd reading dodowise:
out
(A) BACK
stop
(B) WATCH
band
(C) WAGDHN
iram
(D) STATION
Dreak
(E) FRONT
line
(F) MAN
saughter
(G) HOUSE
clean
(H) CUT
out

9 (D) sconE 1 PoINT)

Apart from EIW], wiich is a non-flying bird, 2 fruit, and
a0 a dang term for a non-flying member of the MNew

Zealand A Force, the others ane all acronyms (words

{(A) USDA  United States Dispartment of Agricuiture

(B) NATO Morth Atlartic Tresty Organization

(C) NASA Mabonsl Asronamtic and Space Admenstration
(E) MNAFTA Marth American Free Trade Agresment

10 A 32; B 3B (sCORE | POINT IF BOTH ARE CORRECT; ¥
POINT IF | IS CORRECT).

A, 8
Ist move 18 20
3 5
g i
2nd move 25 i9
4 &
[ [[¥]
3rd move 24 I8
5 7

15 9



4th move 3 FL

& g
14 &
Sth move 2 4
7 |
13 15
&th move 21 3
3 2
12 I4
Tih move piy) 2
I 3
I 13
Total L 33

11 6 (SCORE | POINT),

I &8 ¥ ¢4 125 2 :

That ts: the cubes of 1,23, 4.5, 6 Thecube of G is
2| 6, which means that & must folow 11,

11 R (SCORE | POMNT)

Substituting numbers for letters according to thair posi-
ticn in the alphabet, each harizartal row adde up o 20
Therefore. X must be 18, 28 it is pared with 2 and R 5
the | Bth letter

13 AS5; B2 C |1 (GCcoRE | POINT IF ALL ARE CORRECT;
V4 POINT IF 1 ARE CORRECT)

Corsider the movemants of the black secton in each
figure. It goes diagonally across the squane frorn botiom
left 1o top right and then back again:

ot B BR B G

inﬂ-zurﬁe,it mcves Bwo segments at a time in a clock-

FOTP

in the diarmond It moves altemately from top to bottom:

14 21 (5CORE | POINT).

i wach quarter of the crok

add the numbers in the outer nng: subtract the sum of
the rumbers. in the next ring: add the sum of the num-
bers in the naxt ring to give the number that goes imo
the inner section. 5

thesumoel2 3 4and5........... 4
s;.hﬁ‘aﬂhmnfl.l]aﬁ-t.ﬂ

4
add the sum of 3,4,5, and 6 ......18

2
15 C(scoms | pOINT).
The relathve postons are shown below:
.1114557i; nh'_
al] [ | | 4
e| 2 2 4 5|
jG 1| 3 | 4 £
Remember to record your score.
MNOTES

Questions 4. 7, B, 10, and 13 were probably the most
difficule. Ragarding 4 (since you may come across
other problems of this kind), It Is worth bearing in
mind the coincidence that there are 51 cards in a
pack=—cr 26 In half 3 pack (the equivalent of two
suits}—and 26 letters in the alphabet. Be aware of this
fact, &5 we may use this tactic again in the future.

I was amused 1o witness the antics of some volunteers
who were trying to figure out the answer to number
6. Holding the page upside-down, and even holding it
wup 1o the light and orying to see through it from the
reverse side were comeman stratagies.

As for number |1, you were advised previously to
keep an eye open for series—such as this—which
were incorrectly spaced, | hope thae you benefited
from past eperience.



(Tieme limat:

TEST 2

(You may resz after 30 minutes and then contnue for
another 30 minutes.)

1 Which of the numbered arrows belongs
to X7

2 What goes into the last rectangle!

3z |is Mlm_
Jﬁhn | Feter
s0l10 ’
Francis Bartholomew

3 Pinion (gear wheel) A is the driving pinion,
while pinion B idles on its stub axle.

The black teath of these pinions are
meshed with teeth in the outer ring.
(A) After four revolutions of A in a counten
clockwise direction, where will the black
tooth of pinion B be!
(B) And where will it be when A has
revalved clockwise through one revolution
and then to where the tooth marked x mesh-
es with the outer ring!

4 Which of the numbers in the bottom line
should be placed under 17 in the top line!

2 3 4 5 & 7 8B I0 10 17
7 217 &6 13 8 3 5 4
9 I5 20 33 21 5



5 What cornes next in this series!

| MUICE- SRR R I R . R
2?2 L I | ¥ N

& Supply words to go into the brackees.
Each word must link logically with the pre-
ceding word and the following word, e.g,,
tea (POT) roast.

FOOD

()
LETTER

()
STRONG
)
STRING
)
BAG
( )
BOMB
()
SHOCK
()
LENGTH

CRACK

52

T_I-mil.g_inu that blocks x and y are removed
from the arrangement below, and that the
remaining shape |3 twrmed upside-down.

Which of the other shapes will result!
=
|
|
A
]
c (&



B These clocks are all wrong, as indicared, If 11 Discover the key from these three prob-
they are all correctly adjusted, which dock lems and then break this NAVAL code.
will show the time nearest to |12 o'clock?

1 I
i 1 ! 2
3 4 £ ] | 3
4 g 5 2 | |
A B T E E S

566

R

i
th G W
-~ O 00
o83 o

[+ ] ] B9
T

10 'What comes naxt!

434601 220
| B %8 1 D »

12 YWhich Is the odd one out?

(&) OUTSTRE
{B) RED CURRANT
(C) SIGHING

(D) SELF-EDUCATED
(E) BIGFEET

(F) RONMAN




13 Without using a pocket caloulator, which 1§ Write the words that fit these definitions
of these investments would give the greatest in the corresponding rows below:

incerest! I Mo lover of foreignears.
(&) 51,000 2t 5% simple interest for 4 years 2  Femove objectiorable reading matter.
(B) $700 at 8% compound interest for 3 years 31  Sodfing are
(C) 3900 &t 7% smple interest for 3 years 4 Soll valid.
(D) SB00 at &% corrpourid interest for 4 years 5 Mot lizhle for duty
& wdwandmrﬂm =
14 Give values for A, B, and C: S e
9k receives the mail
X 1
X 2
X |3
X | 4
X 5
X 6
X =
X 8
X |9

NOW CHECK YOUR ANSWERS AND
KEEP A RECORD OF YOUR SCORE.

54



ANSWERS TO TEST 1

I 4 (SCORE | POINT)

Start with the arrow sbove X In the opposite segment
it is tumed %0 degrees counterclodossse. The next is
turned R0 degrees clockwise, Ths alternabing retation s
continued. Therefore, in the opposite segment o X, the
armow rrust be turmed 20 degress codoass (number 4)

1 (SCORE | POINT IF CORBECT)
% 38
Add the lettervalues of the consorants according 1o
their padition in the alphabet and enter the total in the
beft-hand side.

Then enter the total of the value of tha vowels n
the rght-hand side:
BERIGTEHSL 12
M I3 W23 ., Towl 96
ALOISOIRES.. Total 36

B (SCORE | POINT IF BOTH ARE CORRECT; 4 POINT IF | 15
CORRECT)

(A) 5 (3 1

Thare are 20 teath on A and 30 on B.

The rge annular ring will rotate n the seme direc-
tion & the driving pinion,

(A) After 4 revolugions of A the outer ing will
rotate courter-chockwise through B0 teeth, causing the
iding prion 10 rotate theough 2 revolubons (60 testh)
ard an addtional 20 teath,

(B) The driving pinian will rotate through 30 testh
—the same numbar as on the iding pinion, which wall
bring the: black tocth an B to where it was orgnally (1)

4 20 [SCORE | POINT):
Even rurbers have prime numbers beneath them,
Prime rumbers have sven rumbers benaath them, |7 8
a prime rumber; and must havwe an even number
bersath it

The only even number in the third fne s 20,

§ A (scong | POINT).

There are three separate series. Starting with the frst
letter and taking every third letier thansafier:
ITALY

Starting wath the second letter and teking every third
letter thereafter.

SPAIN

From the third letter:

INDIA

B (SCORT | POINT IF ALL ARE CORRECT; ¥ POINT IF 4 OR T
ARE CORRECT)
food

CHAIN

bt

HEAD

srong

B

Sring

BEAM

bag

PIFE

berrh

SHELL

shock

WAVE

lergh

WiEE

Crack

T B (scoss | POINT).
Removing blocks x and y leaves the folowing:

Turned upside-doan, ths comespands with B.

B D (scomre i pomm).

When adjusted, the dodes shaw the lolowing times:
A from 327 to 1257

B from 11:13t0 12213

C freen 1944 to 1224

D from 103210 11:52

E from 5d1)to 1219



92 4 12 (SCORE I POINT IF ALL ARE CORRECT; ¥
FOMNT IF 1 ARE CORRECT)
T first number equals the rumber of CENTER spots.
The sscond number s the total of the spots that
sumound the oerter spots
The third number is the total of the remaning
spois

10 O (SCORE | POINT).

ing ters are not placed adiacent 1o the urits, For exam-
ple, 12 is shown as | 2 Starting with the first term, each
third term thereafier multiplies the previcus term by X

Starting with the second term, &ach third term
thereafter multiphes the prevous term by 4:
R AR - ey (i

Starting with the third term, sach third term there-
after mutipbes the previous term by 5:
callansXes==ill

The final term (1o complete 100) is 0.

11 SUBMARINES HAVE BEEN SIGHTED IN THE
MOFTH ATLANTIC (SCORE | FOSMT).
Fram the sum on the right it B obwous that Sis 7. it
must be decided whether the middle one is an addition
or a subsraction, but & carnot be an addibon, because it
woidd then have a three-digit snswer A it st be a
subtraction, E must be S and T must be 1.

The left-hand probiem must be an addition, so B
mistbe S and Amustbe 9.

Substtutng these kethers in the code:
5-B-A---ES5
8 -E
BEE-
S===TE-
=« T=E
RS [
AT-AT--

B et o e i i LT
SUBMARIMES and ATLANTIC,

The third ward (4 letters) and the sketh word (3
letters) are worth consderng
BEE-T-E

The first must be BEEr or BEEM, and the sacond
must be THE, TIE. or TOE. As & is unfikely that the sev-
enth word ends in T1 ae TO, but oould probably end in
TH. it is reasonable 1o assume that the gxh word s
THE. By substituting H wherewer it oocurs

S-B-A--NESHA-EBEENS__HTE--NT
HE
Ma=THAT-ANT__

Even if by now the other wards do not becoemne
Eoparent, the st wond should be cbvious:
AT-ANTa-

(remambenng that it & a naval code).

Thiz wall supphy L | and C, and the rest should fal

into place.

12 (C) (ScoRE | POINT)

SHGHIMG contains three letters in alphabetical order—
Gl

Al the others contain three letters in neverse
(A) olTStrip
{8) rED-Currant
(D) wif-EDucamed
(E) b Fost
[F) irONMan
I3 (D) scors § PoINT)

() would show $300 nferest
(B) woudd show $152 interess
(C) waudd show $189 interest
(D) waud show 5210 nterest

14 AisB BT Cis | | (3CONE | POSNT IF ALL ARE
CORAECT)
Starting at the actagon (| 1) 3t the top keft and moving
cladiwsss, add the numiber of sdes 1o the figure 1o the
number of sides on its adacent fgure.

The figure before A & a pantagon (5 sdes) and has
a vakue of § (5 added to A, which is a square). There-
fore, A (4 sides) is added to B (abo 4 sides], gving A a
value of &

B (4 siles) i added w0 C (a trangle) gving Ba
vakie of 7.

C (3 side<) is added to the next figure (an odagon),
gvirg Cavalueof |1,



1§ (ECO&E | POINT IF ALL ARE CORRECT: ¥ POINT IF 7
O B ARE CORBSCT}

ol 06 wf Bh Lm AL pa

XENQPHOBE
EXPURGATE
TAXIDERMY
UNEXPIRED
UMNMTAXABLE
HYDROXIDE
PFILLBOXES
ORTHODOXY
LETTERBOX

5T

Question number 5 was ancther example of a *muit-
ple™ sarias, in which every third factor was mkan,
rience of this type of series may have helped you out
A great deal of time had 1o be spent on numbers 8,
Il @nd 13, 13, of course, could have been solved
mch faster with the aid of a calcularor, incidantally,
the amounss given In the anpwer ignone dedmal frac-
tiors.

Hardly anybody succeeded with number 9—not sur-
prising. since there was litthe beyond sheer Inspiration
o guide you on your way,

In case | am accused—in numbar | |— of not giving a
totally unambigucus solution 1o every coded letter, |
can only claim that. since it was 3 naval code. $-B- A
==M-ESand AT - ANT - - could reasonable be
aszumed o lead to SUBMARINES and ATLANTIC,
Tha severth word, (NORTH), with only < - - TH o
g0 on, could not have been south. a8 5 had slready
been accounted for. Firally, H A - E (Sollowing a plural
word) could be taken as HAVE



TEST 3

R |-— R ] - — e
lime limit 4% minuces

I ¥vhat goes into the brackets!?
31 (6B216) 48
19 (2B184) 42
36 ( Y 47

2 Can you make anything of this?

l_'ll' 1 ¢

3 What poes into the vacant square!

me|ke| |epjua| |bbfcr| |at|an

de|sq| | d|mo| [sa|di| |le

4 Which plece completes the jigsaw puzzle!

5 B %
% oY

5 Whar comies naxt?
128 2«75 F=B 45§ 5% E«E75 .

& What letzer should fill the empty space?

7 In four years | shall be five times as old as |
was sixteen years ago. How old am I?

8 Which letter is in the wrong line?

AHIMOETIUNWICY
BCDEFGKLMNPQRE

9 All these vanes move 90 degrees at a time.
The longer ones rotate clockwise, first one
miove, then missing one and moving two (that
ks, through 180 degrees), then missing two
and moving three, and so an.

At the same time the shorter ones rotate
counter-clockwise in the same way.

What will be their positions after six moves!




10 The black ball moves one position ata
time dockwise,

If it stops on an even number, the white
ball moves one position clockwise,

If it stops on an odd number, the white ball
maoves two positions counter-clockwise.

On what number will both balls be in the
same position?

11 'What comes next!
I3 122 B3 314 305 3 143

12 A color is concealed in each of these
Sentences:

(A) Tenper or anger are signs of weskness.
{8) The money & for Ecward.

{C) Youll find | pot it elsewhers.

(D) Ore darces, | s==, is out of stiep.

(E) "Trm a pent and a ldy's man” he said.

13 Find a word that fits che first definition
and then, by changing one letter only, a word

that fits the second definition.

(A) RADIO INDEFATIGABLE

(B} TRAIN REMAINDER

(C) PERSON HELD PAYMENT FOR MAL
FOR RANSOM

(D) PENITENT DEVISE

(E) RE_OIL MOTION OF WAVE

{(F) KNEAD COMMUNICATION

(G) WEDLOCK DEPORTMENT

(H) MODIFY STATEMENT DEGREE OF EXCELLENCE

() MAVAL VESSEL IDOLIZE

() YELD MOST DIFRCLAT

14 Here are six clocks turned upside-down.
Without turning the page right side-up,
which shows the nearest time to 2:25 if held
in front of a mirror!

NI
OO

15 Complete the last line:

75 19

(%) 2%
3 (85
“4 @ 5

5 c-) =
e

NOW CHECK YOUR ANSWERS AND
RECORD YOUR SCORE.




ANSWERS TO TEST 3 '

1 EBI2|4 (2CORE | POINT)
The left-hand dight of the number on the left of the brack-
ets & doubled 1o gve the frst digit inside the brackets.

The lefi-hand digit of the number on the right of
the brackets & doubled to gve the second dign inside
the brackets

The rght-hand digit of the number on the left of
the brackets & doubled to gve the second rumber
#side the bracaets.

The right-hand dgit of the rumber on the rght of
the brackets 1§ doubied 10 gre The nexa number inside
the brackets.

2 THIS scomE | PONT).
Move the top peces 1o the left and down Move the
bottom pisces to the right and up.

-

e i-

L1

—
‘

['.I

3 ke (SCORE | POINT)
Fn:mthemp left WHWim:qm mcve ane

ke ep = b
4 B (sCORE | POINT).

5 (SCORE | POINT)

Express all the tenms as uneven fractions

13 2% 3% 44 5% 6

MNow it is obwvious that the terms progress lke this:
123 234 345 456 567 678 -

and that the firal ferm must be 789, expressad as an
unevan fraction as in the examples:

789

6 L (SCORE | POINT)

Starting from C, read the opposite letter (A) and then
retum 1o the opposite side, moving dodosise to the
next pasition (T). This gues CAT.
Folowrg the procedune:

DOG PG SOW  BULL)

Below B shown the order in which the segments ane
considerad:

T 1| (SCORE | POMNT)L

If 3 represents ry present age, then x + 4 = 5(x - | &)
Therefon=

x4+ 4= 5x - 80 from which: 84 = 4w sox = 71

B 5 (SCORE | POINT).
Al the leners in the top lne except 5 wil read the
same if reflected in a mirron:

S should be in the bottom kre, in which every het-
ter would read badewards f reflecied in a mirmon

9 5 (3CORE ) POINT)



10 15 (sCORE | POINT)

The balls move as follows
Biack ball White ball
2 7
4 9
6 I
3 7
I B
5 |
g -
i) 8
7 I
3 &
i 2
13 |4
iI5 15
11 0 (scone | POINT)
| 31 2 28 3 31 4 30 § 31 6 3 -

The series i basad on the days and months of the
year—zshe month folowed by the number of days. June
hes 30 days, 5o the fral tenm shouid be 30

12 (scoss | POINT iF ALL ARE CORRECT).
{A) ORAMNGE

(8) RED

(C) INDIGD

{0) CERISE

(E) MAGENTA

13 (ECOEE | POINT IF ALL ARE COARECT, ¥ POONTIF E OR
§ARE CORRECT)
(A] WIRELESS  TRELESS

(B) RETINUE  RESIDUE
(C) HOSTAGE  POSTAGE
(0) CONTRITE  CONTRIVE
(E) BACKLASH  BACKWASH
(F} MASSAGE  MESSAGE
(G) MARRIAGE  CARRIAGE
(H) QUALFY  QUALITY
() WARSHIP  WORSHIP
() HARVEST  HARDEST

14 d (scome | POmNT).

1§ (5coRE | POINT)

Ths numbers on eadh side of the bradosts altermately
increase by 2,3 4 5 6, 7, B (and then 3 and |0}, To dis-
ber on the left and add |, then Z then 3, then 4, and
finaly 5 (122 phis 5- 17 ).

Remamber to record your score.

NOW TOTAL ALL YOUR SCORES FOR THE
THREE TESTS IN THIS SECTION AND
CHECK YOUR IQ ON THE I1Q CHART IN
THE BACK OF THE BOOK.

The volunteers experisnced greatest difficulty with 3,
&, ¥, and 11, though, in the cse of |1, they were
warnad to lock out for serles which are Incorrectly
spaced. Vihen the saries is spaced correctly, the refa-
tionship between the months and days becomes
apparent,

The mpor@nt dee to solving number 3 was the facx
that 4 Is abways followed by u, This leads to the fact
that 30 in square | must be followed by LA in the
next square. This combination may have pointed to
tha order in which all the legzers were positioned.

In thae Answers, | offer an algebraéc soluton to number
7, thaugh it can be sobved by erial and error. Unfess
yau are lucky, algebra offers the guickest solution.
The mosz time-corsuming problems were 3, 9, 13, and
{in particular) 10.



Test | Average 4'/1 ponts
Tsz 2 Average 5 paints
Tosz 3 Average 52 points
TOTAL FOR THE GROUP

Ot of a poszinie 45 pors:

Ovar 30 Excelignt

13-29 Very good

(-2l Good

15 Average

014 Fair

Under 10 Foor

Although the average score was very low, it must be
acknowiedged that many of the problems in this group
were very difficulc. However, a few problems which
completely baffled the majority of test-talers were
solved with relative ease by some—aonce agein proving
the poiet that apticude has a major influence on the
results. Thase who fared well in the numerical tests
mazy hawe done badly on the verbal tests, and so on.

Mow find your cverall total score for all the mests, and
find your IQ on the IQ chart at the back of the baok.




IQ SCORING INSTRUCTIONS

Count up the number of correct arawers you came up with on the tests in each of
the vest lovels you attempted. Find your appraximate Q) score in the extrems right
kand colemn. You may measure your IQ after taking one category of tests, or look at
the sum of your scores for all of the test levels for a2 more accurate, composite sCore.

NOTE: This chart is based on test-takers who are 16 years or older: If you are
younger than |6, add 10 points & your score for aach year your age falls below 16

oL TR TR L=t ] TOUR
TERY SCDEE TEET SCORE T SODaE TEST SCDAE 1% JLORE
&0 &0 45 &5 140
594 5 44'4 163 38
59 57 44 160 136
564 L* 414 I 58 134
5T 55 4 155 132
564 54 41 52 130
5& 53 41 150 128
55 52 404 47 126
544 51 40 145 124
54 494 9 142 122
53 48 18 139 120
52 L1 3&'% 134 18
50'4 rT] k1Y 129 11&
43 41 34 124 114
47 40 A 18 2
455 3B 30 13 o
44 36 il 108 0@
414 34 p i 103 | O
4] 32 154 98 |04
9% 30 14 93 102
A 8% 3 a9 Jei]
3% 7A n 85 98
345 264 21 v G4,
n 254 0 Fy:] T4
A M4 % 75 2
30 234 18 7l i
284 114 7 &8 &
7 214 16 £ &5
254 204 15 &1 84
24 194 14 A -y
124 it 13 54 80
2l iI74 2 50 78
194 16% 1 47 76
18 15% 10 43 74
184 144 9 4] T2
1% i3 ] ) 70
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Do you want to learn the degree of

your intelligence? ||“ ﬂl\”l Il

This compelling, arduous and enter-
taining book contains || tests and a
categories of increasing difficulty from
Elementary to Challenging to Masterful.

There are answers at the end of each
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